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答案 

1. (a) 2 

2. (i) 书签送给朋友的数量 

(ii) 80 − q = 16, q = 80 − 16 = 64 

3. (a) 
40

23

5

1

8

3
  

(b) 
20

17

4

1

5

3
  

4. (a) 14 140 ÷ 5 = 2 828 

(b) 2 828 ÷ 2 = 1 414 

5. (i) 7 cm 6 mm 

(ii) (7 cm 6 mm × 2) + 5 cm 2 mm = 20 cm 4 mm 

6. (i) RM 212.70 + RM32.40 = RM 245.10 

(ii) (RM 187.20 + RM 212.70 + RM 245.10) ÷ 3 = RM 215 

7. (i) 5 886, 1 962, 654, 218 

(ii) 17 658, 52 974 

8. (a) 6年 8个月 ÷ 10 = 8个月 

(b) 18天 9小时 − 3天 23小时 = 14天 10小时 

9. (i) 25 790 + 25 790 + 10 470 = 62 050 

(ii) 36 260 − 16 452 = 19 808 

10. (i) 1 850毫升 × 7 = 12 950毫升 

(ii) (1 850毫升 − 695毫升) × 5 = 5 775毫升 

11. (i) 46% 

(ii) 48% 

12. (i) 32 675 g − 17 205 g = 15 kg 470 g 

(ii) 15 470 g ÷ 35 = 442 g 

13. (i) 10 220 ÷ 5 × 17 = 34 748 

14. (i) 8 cm × 12 cm × 15 cm = 1 440 cm 

15. (i) 1 560 ÷ 13 = 120 

(ii) (120 × 3) + (120 × 4) = 840 
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